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Black ball-point pen.the circle O bearing same letter.

(b) Onpage 2 of Answer Sheet fill in your Roll No., etc. by wntnng :
in the [Jand below it by darkening correspondlng O.

(c) On page 2 of Answer Sheet only the answers to questions
are to be marked. The instructions for this are available
on the back cover page of this question booklet.

(d) All entries to be made by Black bail-point pen.

3. Optical Mark Reader (OMR) machine prepares the result by -
reading the entries made in the circles Q with the Black ball-
point pen on page 1 and 2 of the Answer Sheet, hence the
candidate must be extremely careful m marking these entries

~and must not commit errors.

4. Please do not write anything extra except what is asked for.

5. USE OF ANY CALCULATOR, LOG TABLES OR ANY OTHER
ELECTRONIC GADGETS, MOBILE PHONES IS PROHIBITED.

6. Rough work should be done-on the blank pages provided
after-each section or Subject. Extra paper will not be supplied.
(For instructions regarding marking the answers please

see the back c0ver page of this Question Booklet)

2. ﬁ)ﬁfﬁm~méw1$mm%@ﬁmw WA,

3. Siftesa o st (OMR) Teil 3w~z F1 Black ball-point .

4. - ie R Froffer vl o =l ¢ el e < sreren o o

. & Ee
° ma%“%’?ﬁ%ﬁ%ﬂmm

qhanfift @ o R -
1. (as)amfzfu‘r H TR FW-vie A vfafedt 3@ ™,
et . anfiqﬁ%i%{qwhazmwﬁmw%u
(@)mwﬁaza?mamfﬁaﬁm—gmﬁmlwwﬁ
PR Fdat FER R
() m—g@mﬁaﬁw@wzﬁmﬁmi@élm
. T 1 T T 3T el g - Y e T |
(iy w-Yfer & gs3 aun we Ftwen & fhed g
T3 W T wemsd A HT
(iii) T~y & el weafa faway s S i e S fRa
T ¥, B W whinfed § @ wed gEn sifsa A T E
e 30 € T € ek # sty sifed wr A«
af wa wg o @ ar o wy-gRemr aew o
g FIAIE TR ReA-qia firerd @ 5 firre @ aie
FE T IER A A Y- gfwmam’tar&rﬁaﬂw _
& sifafe way R smémmy
- ) St B IR 3~ gﬁaanammwﬁt
I3 # sifwa = 1@ Black ball- pomt“ﬂff'ﬂ'«lﬁa
Tt Y a1t A
(m Tl T B & 15 fre %1 79 oty § S sifFR wC
ﬁqﬁﬁﬁbwmmﬁmzmwmaﬂzﬁm .

{iv)

. TN AW, O B T, qﬁmﬁfa@m—mﬁ
mmmﬁnmﬁmm‘ﬁaﬁﬁﬁwﬁﬁﬁm
A TRINH A d s [ @ § siish & ddea
A # o1y o e 9 ol v . [ = T e @ eer
fed, mmam%ﬁmammméo@ Black
pall- pomtﬂaﬁmmaﬂa‘nm

(@) TR-YR & 782 W e 4. anfe 0 =n § ford o wsifia |

.~ Q T =i Black ball-point ¥ & el H{ | -

(ﬂ)W?ﬁza‘aqsazwuw%mammﬁﬁum

- dey ¥ e @ ye-Tham @ WA m :

(=) @it wfafseal Black ball-point ¥ ¥ % st &1

¥ W el O #t wfafiedl #t Tt wares R wwd 3, @i
whefdE # w=a fra o ¥ e & - By 1 7 2 W
st ) v T - W e v B e A w

5. Tt sty a‘?‘%mgﬁa méﬁawmsﬁgﬁﬁmﬁ

,u’mm!ﬁwan&an
sﬁﬁ;mmmﬁw%m
sfafea gl KA sy -
@mammﬁa}m]gwm q{%m%ﬁ%wﬂa

A—-S_et :

IMMFKT—-page-




Yy -

577

13/MPKT—page-2

A-Set




(13/MPKT j

Time for marking all 100 Questions : 2:00 Hoursl [Maximum Marks: 100
»mﬁlﬂﬂuﬁaﬁaﬁamﬁwm.z,‘w U2, | StfereRaw 31 : 100
NOTE

1. This paper has Two sections, Section-A : General Science : Q. Nos. 1-50 and Section-B : General
Knowledge : Q. Nos. 51-100.

2.  This question booklet contains 100 questions numbered from 1 to 100 and each question carries 1 mark..
All questions are compulsory. There is no negative marking.

3. Tally the number of pages aldng with no. of questions printed on cover page of the booklet. Also check
that question booklet contains the questions of all relevant subjects/topics, as required and stated
above and no repetition or omission of questions is evident.

4. If any discrepancy is found in the Question Booklet, the same can be replaced with another correct
Question Bookiet within first 15 minutes.

5.  Before answering the questions please read carefully the instructions printed on the back cover page of
the question booklet and strictly follow them. Indicate your answers by blacking circles carefully
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6. Use of any type of calculator, mobile phbne or any other electronic equipment and log table etc. is

strictly prohibited.
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1. Nuclear model of the atom was given by :
(A) Thomson
(B) Rutherford
(C) Bohr
(D) De- Broghe ‘
W % for e Ttew R o
(A) owET 3
(B) W A
(C) =mga "
(D) Ei-wifed A

2. . The number of protons present in the nucleus of an atom is called :
(A) Atomic number of the element
(B) Atomic weight of the element
(C) Valency of the element
(D) Mass number of the element
- TRt o] ® 1R & Sl S Wi it AT Sheed §
(A) T I TH] GEA
(B) W 1 9THIY] YR
(C) o HY wANHD
(D) T F FHAA W&

3.  Which of the following symptoms of nutritional defncnency disorder is specific to Vitamin
C deficiency ?

(A) Cracks on lips
(B) Spongy bleeding of gums
(C) Pale conjunctivae
(D) Rashes on skin
fet & § e W st fawr- awﬁaﬁqcméa%%mm% ?
(A) TS F B
(B) WS & TSt wHE
(C) W AsrversHen
(D) =1 1 TERIH
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4. The following elements present in human body, the maximum quantity is of : ’
(A) lron | | |
(B) Sodium
(C) Phosphorus
(D) Calcium
He IR F 93 o At e ol | | et ae wed ey 7
(A) el
(B) wifezw
(C) wremRy
(D) Hfewem

5. Leprosy is caused by :
(A) Virus
(B) Bacteria
(C) Micoplasm
- (D) Protozoa
%53 T T HR B
(A) fersmy
(B) ity
(C) wmhrsH
(D) drrshen

6. Refrigeration helps in food preservation by :
(A) killing of germs (bacteria)
(B) reducing the rate of biochemical reaction
(C) destroying enzyme action
(D) sealing food with a layer of ice
yeftae @ afRer | aeg F R
(A) Sfamust @ T FE
(B) Sa-vamafir sifufwmanetl @ X w9 w1
(C) w~med fipan e Hith '
(D) ©r TETd T F T Y EF D
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7. Which of the following gases is essential for photosynthesis ?
(A) Carbon monoxide o
(B) Carbon dioxide
(C) Nitrogen
(D) Oxygen ' o -
e 8 @ el e wvdtor wfiEen @ ferg o ¥ 7
(A) FEH AFEAES
‘ (B) e ST
(C) M
(D) siferitsH

8.  Which of the physiological process ‘thrombin’ is associated with ?
(A) Excretion '
(B) Reproduction
(C) Blood clotting
(D) ‘Growth " -
e vt wom A oifie Fr gy & 2
(A) s
B) ¥
(C) o o

(D) e

9. The angular speed of the second’s hand of a watch is ;-
(A) 1rad/s ' -
(B) 60rad/s
(C) mrad/s
(D) w30 rad/s
€ Tl YHUS HI g FHT HIUNG 3T A1 ¥ ¢
(A) 1 Yo e
(B) 60 Aez/a®us
(C) = Hewi/RAwvs
(D) w30 fea/dwrs
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10.. Acyclistis running at a speed of 10 m/s.-If the radius of each wheel of the bicycle is 45
cm, the ‘angular velocity of the wheel is : |
(A) 22-2rad/s
(B) 44-4rad/s
(C) 11-1rad/s
(D) None of these , : g v
T WEfRE FER 10 ey dwUs %1 T | = @ § 1 Ak aaied © wew uled wt B 45 94
&, @ ufgd =1 Hong 9 BN
(A) 222 fsz/9=wTe
(B) 44-4 Yea/Awvs
(C) 111 Aema/a=wve
(D) 78 & =g T -

11. A constant force is applied on a mass m initially in the position of rest. The velocity
acquired by it in a given displacement will be directly proportional to :

(A) Vm

(B)
(C)

3]~ 3§|_.

© -

wRfe svereen 3 Reer m e @ Rivs o e Fifer s e ¥ 1 e Frite farenes
R AT AT FHEET B

(A Jm

]
® Jm
C) m
1
m

(D)

§77 | 13/MPKT—page-10 - A-Set




'.12'

tf the kmetlc energy of a body becomes four times, its momentum will become
(A) three times its initial value ' '
(B) four times its initial value
('C) two times its initial value

(D) remains unchanged

i et five = i o = T B e %, s < @ -

13.

14,

(A) 3197 RftsrE /9 &1 A T
(B) 3197 WRfwE WM w1 =R T
(C) 39 wrfises W H A T
(D) sraftafida w@m

The unit of Pressure is :
(A) N/m? |
(B) N/m

© J

(D). Jis
mﬁsssréﬁat%

(A) /e

(B) =R

© W@

(D) Gga/@m

A body is moved along a straught line by delivering constant power The dlstance
moved by the body in time tis proportlonal to: :

A 2 N Wi -

(C) t3/4 o ‘ : (D) t2
'm%@ﬁwﬁfmﬁﬁm@mﬁﬁﬁaﬁwﬁaﬁm@%ttmﬁﬁvgmazraﬁnégﬁ
HHITA B

W 2 @ 1 =

(C) 13 | B (D) t2 '
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15. Work done by a simple pendulum in one complete oscillation is:

_(A) . Zero.

. -1
B 211:\/:
CRr
(C) Infinity .
- (D) None of these

\@ﬂmwmﬁw@mmmwmm
.'(A) ‘\T‘" |

[
e o L
(B) "\/;

(©) =

(©) v A

16. A machine does 20 Joules of work in 5 seconds. Its power is :
S w toow .
'(B) 025W
. (©) aw |
(D) None of these RN
‘@wﬁasmﬁzowmm%:mmm
(A) 1003
® o025%k
L (©) a4
(D) THAEE




17. The water at high altitudes boils at temperatures less than 100°C because :

(A) the atmospheric pressure is reduced and the boiling pount decreases
(B) the gravitational force is less '
(C) the air is dense
(D) none of these
32 e W e 100°@faqw@ammmm% i
(A) mmw@ﬁ@a‘ammﬁw%
(B) TrETEHST wE HH W S ¥
-(C) T =t Bt ¥
(D) ¥ &

18. When an object is heated ‘the molecules that make up the object
- (A) begln to move faster
(B) loose energy '
(C) gain weight
(D) loose weight
mmaﬁaﬁnﬁmsm% ‘cttsm‘»amaﬁ
LA R ATRE | |
(B) . &t et o oy et &

© wmwmomt

(D) TR FHATE

- 19, -The temperature of an ldeal gas rs an mdrcator of rts molecules
7 (A) total energy |
~ -(B). average.energy
(C) total velocity '
f(D) average Kinetic energy
- ament g w8 A R e e B awgatraﬁ
(A) HE S
B) - 3?\'8‘6 Fett
- (C) mIW
(D) ail'@la RIGK| mf
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21.

22.

The temperature of the human body is :

(ﬁg 32°F

(B)~37°C

(C) 32°C

(D) 100°C

ngw % YR T a9 Bl ©
(A) 32°F

(B) 37°C

(C) 32°C

(D) 100°C

Fahrenheit and Celsius scales of temperatures show equal readings at :

(A) —40°

(B) 0°

(C) 100°

(D) 32°

a % HRIEEE TS Afvaad ﬁﬂnﬁ SR T T
(A) —40° ™

(B 0°w

(C) 100° W

(D) 32°wW

Pencil lead is made of :

(A) Lead

(B) Lead oxide

(C) Graphite

(D) Manganese omde
et 51 diren S R
(A) &

(B) WR % siweEs &
(C) Iw A

(D) i sifFams ¥
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23. The percentage of solar radiation reaching earth that is lost by reflection is about :
(A) 35 ‘
(B) 50
(C) 75
(D) Zero
Yool X g ¥ o1 et fafervor wh whtrer S wred gr e fean v ¥, zﬁm%mﬂm
(A) 35
(B) 50
(C) 75
(D) T

24. Ozone layer presentin atmos'phere absorbs: -

(A) infrared light arriving from the sun

(B) ultraviolet lig‘ht arriving from the sun
(C) Vvisible light arriving from the sun
(D) charged particles reaching earth
F0 FrERY H Sufeer SIS 9ta v T R

) TE R AR I S T

(B) T 3T aren ST yewr
(C) T s aTen g T

(D) YT W UEEA T SRR H

25. The minimum height of a plane mirror to see the full size image of a person is equal
to: :
(A) the height of the person
(B) half the height of the person
(C) one-fourth the height of the person
(D) double the height of the person )
Wwﬁawwuﬁfﬂwé@ﬁ%ﬁmwﬁwﬁwm#ﬁ :
(A) =aferd it 91 H FTR
(B) =ufer = Srelrg w1 ameft
(C) =afim &1 SR & TH-Ag
(D) wﬁa Elﬁ ﬁr&»‘ aﬁ ?ﬁ Tﬁ
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26.

27.

28.

Sky appears blue because :
(A) Blue light is scattered most

-(B) Red lightis scattered most

(C) Blue light is absorbed less in atomosphere
(D) Blue light is absorbed more in atmosphere
T e fra 2 ¥, i

(A) S FerTe w1 gl stfes Fen ¥

(B) A FehTgl o1 Yehiviq 1fereh B &

(C) I HehTYT 1 SATATERYT | ST T BT &

(D) el TehTeT o1 STaTeRTl H STarwi S B €

Sound above what level (decibel) is considered hazardous noise pollution :

(A) 30dB
(B) 50dB
(C) 65dB
(D) 80 dB
WW(@tﬁw)ﬁaﬂmaﬁwﬁmwﬁmmﬁ%7
(A) 30dB
(B) 50dB

(
'(C) 65dB
(

D) 80dB

The specsflc resistance of a wire depends on |ts
(A) radius - ‘

(B) length

(C) cross-section

(D) material

foret ar o1 fafere wfady Pk e

(A) zu=T P w

(B) wH T W

(C) U ATTY-FHE W

(D) 3o T W

877 13/MPKT—page-16
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29. The magnetic susceptibility of diamagnetic substances is :

30.

31.

(A) small and negative

(B) small and ’positive

(C) large and negative

(D) Iarge and positive

‘J’Fﬂﬁw 3T ®Y ety ygta ?I?ﬁ T
(A) 9 q9T FHUTHF

(B) 319 AT YA

(C) - wifyss qen wHomea®

(D) fyes Qe yaTETR '

-The excess of gas which in earth’s atmosphere causes ‘green house effect’ is :

(A) Carbon dioxide

(B) Oxygen

(C) Nitrogen

(D) Argon

qwﬁ%wﬁmﬁvﬁ aqu%w ﬁ?mum B ¥, Eﬁs%
(A) w1 SRS

(B) 3RS

(C) g

(D) swH

The oceans cover of the earth’s surface is :
(A) 50% ‘

B) 25%

C) 71%

(D) 10%

g At Tag I A SR §

(A) 50%

- (B) 25%

©) 71%
0) 10%

A;Set | 13/&#KT—pagé::17 | S-77
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32. Mirage is an example of :
(A) Polarization
(B) Total internal reflection |
(C) Dispersion
(D) Diffraction
TSI SRR |
(A) g7
(B) oI s wRreda &
(C) fagu &
(D) faad= =

33. Which one of the following is not a-mixture?-

(A) Air

(B) Mercury

(C) Milk

(D) Cement

e i @ fasor it ¥ e
(A) ==

(B) W™

(C) ¥

(D) wHvE

34. Acid rain is caused by pollution of environment by :

(A) Carbon dioxide and nitrogen

(B) Carbon monoxide and carbon dioxide
(C) Ozone and carbon dioxide

(D) Nitrous oxide and sulphur dioxide
Iree Tt 9= R SR Ygue § S Bt §
(A) e STRATRAIES T ASEIeH

(B) e HIFRIZS U HTa SIRHIATS

(C) ST AT HTe STRATFES.

(D) RZH SHFHITS T HTHL TERHAFES

T T X37MPKTopuge-18
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35. Chemical used to preserve food material is

36.

37.

(A) Caustic Soda

(B) Barium Sulphate

(C) Sodium Benzoate

(D) Sulphuric Acid
mwﬁ%w&(m%fﬁqmﬁmaﬁmw%
(A) =ifes der .

(B) Sfm Tewhe

~(C) wfezm a=iwe

(D) Tiersh 1 3T

Which one is not the isotope of hydrogen ?-- .~ -
(A) Protium

(B) Eritium

(C) Deuterium

(D) Tritium

e B @ wEger 1 gt (EEE) T %

(A) wfemm

(B) R

(C) =

(D) feferm

pH value of neutral solution is :
(A) 8 '

B) 5

C) 7

(D) zero

IR faeras &1 pH 7H a1 ®
(A) 8

(B) 5

© 7

(D) =

A-~Set 13/MPKT—page-19




38. A mixture of water and NaCl can be separated by :
(A) Sublimation
(B) Evaporation
(C) Decantation
(D) Filtration
LiciReC NaCI%ﬁqwaﬁqWWmmm%
(A) SR gRI
(B) arsT g™
(C) frgme
(D) B

39. The amorphous allotrope of cz;rbon is :

(A) Diamond '
(B) Graphite
(C) Fullerene

(D) Coke
T 1 AFEAT TRET ¢

(A) &
(B) IwrEe

(C) B
(D) ==

40. Which of the following vitamins is necessary for coagulatioh of blood ?
" (A) Vitamin A
(B) Vitamin B,,
(C) Vitamin K
(D) Vitamin D
fr= o s faafas @ =6 %@ IYTIF % ?
(A) faafim A '
(B) faerfi B, 5
(C) faarfm K
(D) fyrfim D

577 13/MPKT—page-20 ~ A-Set
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41.

- 42,

Lightyearisaunitof:vv
(A) Distance . (B) Time

(C) Mass (D) Intensity of light

YT T THTS oI & |
A) < (B) @

(C) somm &t (D) et Y e

General name of the star group arranged in definite pattern is :
(A) Milky Way (B) Constellation
(C) Andromeda (D) Solar System
% TR W S Fafvea spfa # srafeem @ &, o g

(A) dAwETT (B) &

(C) e | (D) W =S

t

. According to Big Bang Theory the age of the universe is :

(A) 138 x 10° years
(B) 13-8 x 107 years

(C) 13-8x 108 years

(D) 13-8 x 10% years
w1 foreie fagT= (Big Bang Theory) & 31T SRS w1 319 %

(A) 13-8x10%ad
(B) 13-8x 107 o

- (C) 13-8x 10%ad

(D) 138x10%ad

The first satellite of India sent into space was :
(A) Bhaskar

(B) Rohini

(C) Aryabhatt

(D) Apple

AR I 5RI ﬁwwummm

(A) - HrE=RT
(B) feuft

. (C) oWz

(D) Tt

A—Set ' 13/MPKT—page-21
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45. One micron length is equal to :

(A) 10mm

(B) 10~*cm

(C) 10™*m

(D) 10*cm

T TG TS SRR Bt
(A) 10 fasit

(B) 107* It

(C) 1074

(D) 10* it

46. Absolute zero of temperature corresponds to: -

(A) —273°K
(B) 273°C
(C) —273°C
(D) —273°F
Y I A9 A
(A) —273° sfeem
(B) 273° dfeaaw
(C) —273° Afra=d
(D) —273° wRRIEE

47. The surface area of a cube is 384 m?.-Its volume will be :

(A) 512m3

~(B) 516 m°
(C) 1032m3
(D) 216 m?3
e = 1 Tg Awe 384 T T | TR AT AT
(A) 512 W7 e -
(B) 516 7 Hx
(C) 1032 =4 Hx
(D) 216 7 "R

e g

S smeki—pege

- ra/
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49.

50.

One barrel of oil is approximately :
(A) 131 litres

(B) 159 litres

(C) 179 litres

(D) 200 litres

T ST qST T Bl ©

(A) 131 fa=x

(B) 159 fa=x

(C) 179 farex

(D) 200 faex

The fourth state of matter is called :
(A) Solid

(B) Liquid

(C) Plasma

(D) Gas

1 1 Seft ST wEEr §

(A) 3=

(B) =@

(C) v

(D)

“The chemical symbolAfor the element sodium is :

(A) S
(B) Na

- (C) Sr

(D) Sm |
Aifeam o &1 TaEtT fag e € .
(A) S

(B) Na

(C) Sr

(D) Sm
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51. Which is the National Animal 0" India 7 .
- (A) Elephant
(B) Lion
(C) Tiger
(D) Bull _
R T TG Y] PG T ?
(A) et |
(B) IR
(C) s
(D) sig

. 52. The Indian Constitution gives which type of Citizeriship'in the following :

(A) Double Citizenship
(B) Single Citizenship
(C) Both (A)and (B)
(D) None of these
Waﬁmﬁmﬁﬁmwaﬁmmm% ?
(A) <& e
(B) wewe ARG
(C) (A) ¥R (B) 3 |
D) = & i &

53. Sakhya Sagar lakeisin:
(A) Panna National Park
(B) Madhav National Park
(C) Sanjay National Park |
(D) Bandhavgarh National Park
Ired | gt R T SR A ¥ 2
(A) T UEE 3T
(B) wrvm U SEIM
(C) § = U &
(D) - SliEeRTE THT SeH
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- 54. " Which of the following rivers is not a tributary of Chambal ?
(A) Parvati ‘
(B) Kalisindh
(C) Kshipra
(D) Wardha
=1 9 @ Feht 7 v § aﬁ fret % 2
(A

. (B) ety

“ ©) fawr
(D) =i

55. For how many years Indian Presrden& is elected ?

(A) 6years
(B) 5years
(C) 4vyears
(D) 3years .
YR < sz g fe el @ g d 7

- (A) 6T
(B) 5.
(C) 4=d
(D) 3o

- 56. Which is the biggest High Court of.India ?
(A) Chennai High Court
(B) Kolkata High Court’
(C) Allahabad High Court
(D) Mumbai High Court'
A 1 T TG e AT ¥
(A) = 3= 9EEE
(B) eI 58 R
(C) zemER ST qEed
D) =% == AeE
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| 57,

56.

The tenure of Governor is :
(A) 3years

(B) 4years

(C) 5years

(D) Byears

(A) 3o

B) 4

(C) sad

(D) 6 EE!

The State Sports of Madhya Pradeshis:
(A) Kabaddi

(B) Mallakhamb

(C) Wushu

(D) Chess

o e YR T T A ¥

59,

(A) waSSI

N

(B) werE@w

C) 3%
(D) YRS

Number of Rajya Sabha seats from Madhya Pradeshiis :

(A) 10

s (B) 1M

©) 12

(D) 13

AT Y29 A T T R el feed 92 ¥ 2
(A) 10 » -

B) 11

€) 12

(D) 13

B
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60. The Density of population (per sq. km.) of Madhya Pradesh is : -

(A) 382 '
(B) 282
(C) 336
(D) 236
HE YRV 1 SHEEA 5 (ufa =l feet) ¥
(A) 382
(B) 282
(C) 336

. (D) 236

61. Whose signature is there onthe tenrupeenote?.. . - .«
(A) Finance Secretary of India
(B) Chairman of Indian Bank
(C) Governor of Reserve Bank
(D) Finance Minister of India
TH T F N TG e & ¢
(A) 9Ra TFR & a7 afga &
(B) WRdT 9% & =T &
(C) fiwd &= & ok B
(D) uId &R & faa w=it &

62. For the first time Mutual Fund was introduced by - . .-

A) LIC o
(B) GIC
(). UTI

(D) SBI | S
T T R[S oS Y fera LT EEE W Ty T L et
(A) w A ;

(B) . ofE. @ 7

©) %A o 3 | B | e
(D) . . o7, o
.




63.

64.

65.

Oil India Ltd. is an organisaiion concern with :
(A) Inoil export

(B) In oil synthesis

(C) Inoil research

(D) In oil filtration

siferet Bfvea ffirde T STE & O wer

(A) A fraf o

(B) ¥t wiEd T

(C) ¥ argery |

(D) et Geawor §

Indian Carpet Technical Institute is situated at :

(A) Nagpur

(B) Patna

(C) Bhadohi

(D) Jodhpur
Wt et irenfirent s et feom % ?

(A) TR

(B) T

(C) R
(D) SR

‘Bokaro Steel Plant’ was set up by the help of :

(A) Russia
(B) France

(C) Britain

(D) America

‘IR D e’ ﬁm%\aaﬁmﬁmw% 2

(A) ®9
B) W
(C) o

o) SR

S-77
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66. Which place of Punjab is famous for Hosuery Industry ?
(A) Gurdaspur
(B) Amritsar
(C) Jalandhar
(D) - Ludhiana
" wﬁﬁwwmmﬁmm% ?
(A) TR
(B) Ham
(C) wmeTR
(D) ftrar

67. Inthe fol!owmg the ISI mark is not given to which produet ?
(A) Electric goods
(B) Hosiery products
(C) Biscuits
(D) Clothes

e st §') R IS (ot EH aﬁ)ﬁamwﬁﬁmm% ?

(A) forpq it
(B) Brort 1w
(C) fowge
(D) weT

" 68. Indian production of tea in the world stands :

(A). Second

© (B) Third

- (C) Fourth

© (D) First

" S H e o foed e e )
A) T | |
(B) A
(C) =4

(D) W

o
s
o
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69. If adoor of runnlng refrigerator is kept open in a closed room, what will happen to the
room ? :
(A) Itcool the room
(B) It will heat the room
(C) 1t will make no difference on the average

(D) It will make the temperature go up and down
aHWﬁr@ﬁ?@mq%ﬁmiaw«qmmﬁgw@ﬁmm% ?hmqimmgmaw
B ?

(A) IT HW H IS HI M

(B) & T I TH HT QM

(C) =% sl =¥ e 7 srerm

(D) I& AYHM Sl FR-= B3N

70. The blackboard seems black because it :
(A) reflects every colour
(B) does not reflect any colour
(C) absorbs biack colour

(D) reflects black colour -
YIS el @ 3 §, i
(A) 9% & 1 1 WadA w3 §
(B) = femwt T o qwERA el I §
(C) o FTer TN 1 STAINTV HIcAl &
(D) =% FHT TN 1 T Tl &

71. Which one of the following is correct with reéard to butter ?
(A) a supercooled oil
(B) -an emulsion
(C) a molecular solid
- (D) a gel (jelly like) :
fetfortoa # @ ST Fo Tee S g ¥ 2
(A) erfoeifaa 9ot
(B) wmE¥
(C) enfoas 39
(D) TS (St W) %

L O T
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72.

73.

74.

(D) Kalisindh

The rusting of iron nail :

(A) decreases its weight

(B) increases its weight

(C) does not affect weight but iron is oxidised

(D) does not affect weight but iron is r,educed'

Tg 1 A F M1 AFE W/

(A) TG UK H HH & I Y

(B) S YRAFEAMMNE

(C) ¥R ¥ = wftentw 7€l B, fofeg wiren sifereiipa g @
(D) - R # 1 TRad T e, o often stoafaa g §

If a limestone piece is dipped in water, bubbles evolve The bubblmg isdueto:
(A) Hydrogen

(B) Oxygen

(C) . Water vapour

(D) Carbon dioxide

Atz - B gHS W I # g s, fhgagésﬂwﬁrﬁ%l ﬁwmwaﬂﬁ% 2
(A) TEgeE

(B) 3ttt

(C) ierarsy -

(D) wahmgaﬁamsg '

The Iargest river flowmg in Madhya Pradesh is

(A) Yamuna

(B) Narmada o | ‘ .
(C) Chambal | H”'J/ u b

HeA TRV e arelt Wol 99t T T
(A) =T

(B) T

(C) =1

(D) wreifey
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75.

76.

Which of the following freedom fighteré belongs to Madhya Pradesh ?
(A). Chandra Shekhar Azad . |

(B) Bhagat Singh

(C) Sahdev

(D) Rajguru
ﬁmﬁ@aﬁwm@aﬁmwmﬁwﬁaﬁ%7

(A) =TI AN
(B) wmafas
(C) weaa

(D) TR

Madhya Pradesh has the largest reserves of the following minerals : -

(A) Diamond and Copper
(B) Diamond and Iron
(C) Gypsumand Copper
(D) Gold and Copper

- Wmﬁm@ﬁiﬁaﬁmmm% é%

(A) daadtn
(B) & A

- (C)forwgm = cifen
(D) a‘maﬁm

. The number of Natlona| Parks sutuated in Madhya Pradesh is:

(A) .3

(B). 5

.(C) 7
D) 9
_mu%srﬁﬁmn@uwﬁﬁm%

A 3

(B) 5:

© 7

K
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78. Water of which dam is shared by the two States Ra;asthan and Madhya Pradesh
* (A) Rana Pratap Sagar Dam
(B) Ban Sagar.Dam. ,
(C) Gandhi Sagar Dam
. (D) None of these -
ﬁwaﬁw%wm%waﬁﬁrmmammmm%mm% ?
(A) O YA WIR Sty
() FwR
~(C) ittt W sy
(D) T A

79. The most tnbal populated districts of Madhya Pradesh are:
(A) Dhar Jhabua, Mandla
(B) Gwahor Mandla, Dhar
(€) 'Jabalpur Bhopal, Gwalior
(D) None of these
e 3w # iferehaw Tt aga g
(A) R, T, e
(B) wanferR, HSA, UR -
- (©) SIEETqE, 9T, Tt
(D ) wﬁﬁs‘aﬁ

80. The GDP of Madhya Pradesh recorded in fmancnal year 2011-12 was

- (A) 12% ~ -
(B) 35%
(C) 8%
(D) 10%
for o 2011-12 ﬁmu&m‘»fmmmwmaﬁmwm
(A) 12%
(B) 35%
(C) 8%

(D) 10%
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81. Wh|ch was the third major party in the assembly electlon in Madhya Pradesh in 2008 ?
(A Bahu;an Samaj Party .

(B) Samajvadi Party

©) Communist Party

(D) Congress

77 TR B 2008 B faur wwr gl § fed Te st W w4t ?

(A) TESH THS W

(B) wHTSIEET WrEt

C) wgfiee wet

(D) =

82. Which of the following has been recognised as world heritage site by UNESCO ?
(A) Bhim Bettka Caves |
(B) Khajuraho Temple Monuments
(C) Buddhist Monuments at Sanchi
(D)- All of these
‘ﬁﬂﬁﬁﬁo’@?@%ﬁmﬁﬁ Hﬂ%ﬁ@mﬁ%%mw% ?
(A)  sftm Sz T -
(B) Tre! Hf W
(C) wieh = g e -
() -Wﬁ

- 83.. Who among the followmg was the flrst Chlef Mlnlster of Madhya Pradesh ?
o (A) Ravn Shankar Shukla .
(BY M1shr||al ‘Gangwal
(C) Kailashnath Katju
(D) None of these
e 7 ¥ P e WY 1 9EE T Tl a2
(A) oo T .
(B) ﬁ%ﬁwm
(C) emeEe
(D) H § =g T
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- 84.

85.

86.

Which wildlife sanctuary has been established for reintroduction of Asiatic LIOrIo
(A) Kuno wildlife sanctuary

(B) - Chambal sanctuary

(C) Sardarpur sanctuary

(D) Ghatigaon sanctuary

T 90 & vl & fan e sraroa &t w7

(A) T 1vERo

(B) == R

(C) WWRRY I9grRvy

(D) =ETTE AR

‘Pachmarhi’ a place in Madhya Pradesh is. famous for :

" (A) Rock-cut temples of Pandvas

(B) Wall Paintings

(C) Nationai Parks

(D) Jain Temples

e Y9l § yeme) T ufag ® |

(A) mﬁmmmm%ﬁﬁ%m
(B) fufa fasi & forw

(C) Tt v = fer

(D) S wf<3l % foaw

Pan Slngh Tomar a renowned athiete of M. P was seven tlme National Champlon in
the game of :

(A) 200 m race

(B) Hammer throw
(C) Steeple chase
(D) Boxing
nwv@wmﬁmqﬁzmﬁzmmaﬁﬁmmmﬁﬁmm ?
(A) 200 Ht. s |
(B) N %

(C) wha ==

(D) FerharSt
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~.+87. InMadhya Pradesh the Sanjha Geet, Vasdeva, Bhopa and Kalgi Turra are the styles
of: - :
(A) Folk dances
(B) Folk singing
(C) Classical dances
(D) Local paintings
Heg YR |, ien M4, aeed, 1 | et guf fEwe vER ¥ 2
(A) & T
(B) i e
(C) wr=im T
(D) warr e

88. Which among the following are State animal, State bird and State tree respectively of
Madhya Pradesh ? - ' ’

(A) Barasingha, Dudhraj, Banyan
(B) Cheetal, Sonchiriya, Peepal
(C) Tiger, Dudhraj, Neem
(D) Lion, Dudhraj, Banyan
foa 1 R qwu%ﬂ%waﬂnw,q&ﬁaﬁ@% ?
(A) =rafem, geRrs, 9 .
(B) =, Gfafan, W
(C) - =i, gaRs, |
(D) W, THA, 5%

89. Famous Bagh Caves of Madhya Pradesh are known for their special........ .

(A) Mural paintings
(B) Rock cut temples
(C) Shelter of Buddhist Monk
(D) None of these
HeT Y_W 1 WG e TR ST fafrse e et = HROT A STt ¥
(A) fufe-faz
(B) =ERi e S U AR
(C) g =i w1 TRo Toredt

o D) T
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90. Who among the following are the two cricketers who scored centuries for last wicket

oo,

partnership in first class cricket matches ?
(A) Chandrakant Pandit — Chandu Sarwate
(B) Chandu Sarwate — Shute Banerjee

(C) Bishan Singh Bedi — Chandra Shekhar
(D) Roger Binny — Kapil Dev

firet 3 @ e ) fordhe farenfedt 3 wom Aot fipehe #eil 7 anfer fafere =t gt  fom @er gu

RIGETC L

(C) ﬁvmfaﬁa—m
(D) Ak for=it — =it

The ‘Chanderi’ and ‘Maheshwari’ are related to :
(A) Holy places |

(B) Historical places

"~ (C) Brand of Saris

(D) Brand of Marble Stone
‘ﬁéﬂ'a‘qﬁaﬂ’.ﬁaﬁ'mﬁm% ?
(A) - dfas wm

(B) i v

(C) wifedi & sve .

(D) TR WeeR B FvE
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92. As per the provisional data of Census—2011, the percentage decadal population
growth rate during 2001-2011 is : -
(A) 17-6
(B) 20-3
(C) 219
(D) 247
STA-2011 & sk siteei & SER, 2001-2011 & Tezr yfaerd et srae JfE
wWe: : ‘ '
(A) 176
(B) 203
() 219
(D) 247

93. Approximately what percentage of water found on the surface of Earth ?
(A) 51% ‘
B) 61%
©) 71%
(D) 81%
st & e 1 T TR TRwm R A E 7
(A) 51%
(B) 61%
C) 71%

- ©
(D) 81%

94. As per the provisional data of Census-2011, the district of Madhya Pradesh, which
has lowest population is :
(A) Harda
(B) Sheopur
(C) Umaria
(D) Dindori |
STOA-2011 B ety aifRel & STIER, HeA VRN 1 o forell, Toreeh) S e €, ¥
(A) & '
(B) ¥R
(C) sHfn
(D) fe=rt




95.

97.

The Chief Information Commissioner of Madhya Pradesh ns

(A) Igbal Ahmed

(B) Padmapani Tiwari

(C) Mahesh Pandey

(D) None of these

A T e A I €
(A) T MEHS

(B) wezrfor foramt

(C) #gwramog

(D) ¥4 @ % =l

Which of the following States does not borders Madhya Pradesh ?

(A) Rajasthan
(B) Bihar
(C) Guijarat

(D) Maharashtra

ﬁwﬁﬁmmaﬁmnwmﬁﬂﬁmﬁ%7
(A) TSEgH
(B) faer -
(C) Torm
(D) wewTsg

The maximum Coffee Producing State of Indiais: =~ ©"

(A) Maharashtra
(B) Karnataka
(C) Tamil Nadu
(D) Kerala

RA & TR SAfereh IR S HTT AT TR BT 2 -

......
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98.

99.

100.

Where the wheels and axles manufacturing railway.unit is situated ?
(A) Chittranjan '

(B) Bangalore

(C) Chennai

(D) Kanpur ,

s iR Tfrget ST AR Yo gt e et ¥ 2

(A) o '

(B) AR

(C) ==

(D) HER

Acid rain is caused by : ‘

(A) due to Sulphur and Nitrogen Oxides
(B) due to Boron Oxides

(C) due to Carbon Oxides

(D) due to Fluorine Oxides

el ot T HROT R

(A) TR T TN o TS

(B) NI SRS

(C) =mA B RS

(D) TG # e

The number of recognized scheduled tribes in Madhya Pradeshis:

(A) 46

(B) 48

(C) 50

(D) 51 .

Teg wayl | WY ITgfaa S Y Wed |
(A) 46 '
(B) 48

(C) 50

(D) 51
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INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESTIONS

g9+t % I 3R qEE=ER
e

(Please use Black ball-point Pen)
1. Method of Marking Answers :

To answer a question, please darken one circle
out of the given four, in the OMR Answer Sheet
against that question.

_12. Valuation Procedure :

There are four probable answers to a question,
only one oft_hém is correct. One mark will be

one circle are darkened for a question, it will
be presumed that the candidate does not know
the correct answer, hence, no mark shall be
awarded. '

3. Cancellation or Change in Answer :

It will not be possible to change the marked
circle with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on OMR Answer Sheet. -

4. Handmg over of Answer ‘Sheet to
Invngllator

) Please ensure that all entries in the answer
sheet are filled up properly i.e. Name, Roll
No., Signatures, Question Booklet No. etc.

(i) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

§5. Care in Handling the Answer Sheet :

While using answer sheet adequate care should

awarded for each correct answer. If more than -

be taken not to tear or spoil due to folds or

(FT Black ball—pomt ﬁ'ﬂmw’maﬁ)
IAT T T qnT

W 2 % ferg OMR -gficert & wifeem woA &
W # 53 T SR el § @ S U e R g0

Waﬂﬁql

et wgf :

u@mw%wvmﬁaw% Wﬁaﬁwww
TR Wﬁﬂéwmw@@mm

o s e e e ot T e |

m%ﬁwﬁﬁmmaﬁwwﬂﬁ%m
Y FE m‘ﬁ'fﬁmml

waﬁﬁw:mmam:
IR MR TS PR R A T Y |

ﬂﬁa}ﬁmaﬁrmmﬂﬁa’mm:ww"
TN S e R ST B S MR Hif |

. Se-vhte s W
(i e 1 -t o3 v e A

foh S-ite & el s w weft el SR—am,
Ut TR, TEAER, T-Yfat H1 TR g
Freifa v S-S M E

(ii) e Iutr= udtaqieda ot we-yfiaenr oA
WA A SRR
FL-Fite & SUENT | wrauT

I-FiIE 1 FIM B T G W@ | WEwE a1 |
T R, A A T WA F WAL

wrinkles.
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